Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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g» structures [Fig.Q1(c)]:
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Module-2

Deriv:: the moment-curvature equation for deflection. ;
A-simply supported beam AB has a span of 5m and carries a point load of 50; N ca

- \d}stance of 3m from left end A as shown in Fig.Q3(b). Find the deflection under thw load

and also maximum deflection in the beam.
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OR

Fig.Q4(a) - ) ” (08 Marks)
lope and deflection under the load for the beam, shown in Fig.Q4(b) using

(08 Marks)

a. Obtain the expression for stra mergy stored m*g member when it is subjected to axial load.
k ; (08 Marks)

(08 Marks)

a. Find the value of vertical-deflecti ‘;s’f“ﬁ;_,‘lqture shown in Fig.Q6(a) by
Castiglione’s theorem. ,
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£~ d Fig.Q6(b) (08 Marks)
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Module-4

;;A three hinged parabolic arch has a span of 30 m and rise of 6m. It carries a ud] of \.wkN/m
A J(_‘over the left half of the span and a point load of 6 kN at 9m from right end. Find the BM,

“n ,mal thrust and radial shear at a section of 9m from left end support"Also find the
maxmmm bending moment along the span.

carries a udl of 20 kN/m. Determine:
i) The max:1mum and minimum tension in the cable.

(16 Marks)

(06 Marks)

For a simply supported beam of ‘span
as rolling load system as shown‘\g;
principles.

RN gox®

i) Maximum reactions

ii) Maximum bendm mdmént at 8 m from left support." (16 Marks)
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